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1. Consider a binomial model S{0) = 100 and » = 01 and two possible return values m, = .03 and
My = —.03.
Find the {(time 0} value of an Asian call option with expiry at step 2 with strike X = 99. The
payoff of the Asian call is:
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2. Setup & hinomial stock price model over 50 time steps over one vear with effective interest 1%
and log return having risk neutral variance 0% = (.02)? at the end of one vear. Find the price of
a BEuropean Call with S = 40, strike X = 40 and expiry 1 vear.
Use the Gaussian approzimation of the binomial distribution to approzimate the sum.
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